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COMPOUND ANGLE
1. Let  and be two real roots of the equation

(k + 1) tan2x – 2 .  tanx = (1 – k), where

k(  –1) and  are real numbers. If tan2 (  + ) =
50, then a value of  is ;

(1) 5 (2) 10 (3) 5 2 (4) 10 2

2. If 
2 sin 1

71 cos 2
 and 

1 cos 2 1
2 10

, ,

  0,
2 , then tan(  + 2 ) is equal to _____.

3. The value of

3 33 3
cos ·cos sin ·sin

8 8 8 8
 is :

(1) 
1

4
(2) 

1

2
(3) 

1

2 2
(4) 

1

2

4. If  L = sin2 
16

 – sin2 
8

 and M = cos2

16
 – sin2 

8
, then :

(1) 
1 1

M cos
2 82 2

(2) 
1 1

L cos
4 84 2

(3) 
1 1

M cos
4 84 2

(4) 
1 1

L cos
2 82 2
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SOLUTION
1. NTA Ans. (2)

Sol. tan  + tan  = 
2

k 1

tan . tan  = 
k 1

k 1

tan(  + ) =  

2
2k 1

k 1 2 21
k 1

 
2

50 10 & 10
2

2. NTA Ans. (1)

Sol.
2 sin 1

72 cos
  

1tan
7

1sin
10   

1tan
3

  
3tan 2
4

tan tan 2tan 2 1
1 tan tan 2

Ans. 1.00
3. NTA Ans. (3)

Sol. 3 3cos ·sin sin ·cos
8 8 8 8

1 1
sin .cos sin

8 8 2 4 2 2

4. Official Ans. by NTA (1)

Sol. L = sin2 
16

 – sin2 
8

2 1 cos2
sin

2

 L = 
1 cos( / 8) 1 cos( / 4)

2 2

L = 
1

2
cos cos

4 8

L = 
1

2 2
 – 

1

2
 cos 

8

M = cos2 
16

 – sin2 
8

M = 
1 cos( / 8) 1 cos( / 4)

2 2

M = 
1

2
 cos 

8
 + 

1

2 2


